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(OLD COURSE) Q.P.NO: 11895

_ : (3 Hours) ‘ [ Total Marks : 100
N.B. : (1) Question No. 1 is compulsory.

(2) Attempt any four questions from remaining.

(3) Answer to subquestions should be written together.
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(e) Find [(EXE)X (Ex H)] + [(BXE)X (EXE)J + [(Exa)x (Bxa)] : . -

(f) Ifthetemp T atany print (x, y, ) on tl%l; surfag:e of the sphere x2 +y2 SR atis 4

T = 400 xyzz . Find heighest tempreture.
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. (@) Findzif arg(z+i):g <'.%m':11rg(2~1)=~3E
(b) Ifsin(B +i¢)=tan a +isec a then S.T. Cos 26 cosh 2¢ = 3. : _ 6
5 - 1 .
u= x3'¥3£‘3 +cosix2+yz+£2i 8
(c) If X3yl 4z [xy+yz+—zx_| :

| (a) Iff(x)=x(x+1)(x+2) (x+3); S.'T. £ (x) =0 has at least three real roots in [-3,0]. 6
g N B R ,
(b) Verify the formula that ET.—(A + B ) = AXx o + o B for 6

A =5t%+1j— Ok & B =sinti—cost j e e
(¢) Expand sin'x in assending powers of x upto the term x".
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